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(Guijarati Medium) 5299 |! [ WAyBs R
| QUESTION PAPER NO.
|
Wl dss suis D 1
I P
l SEAL SEAL SEAL SEAL SEAL
wladll 1l ol s guadanr-l udl

ulandll W ol il
(1) stami 4 2ud Qi 3l e yiRes viadl -4l

Q) wdlen et udlauell wRell S wa et uss, wleliisy, stuel, 260, 2y sad RiBd 3 Bi-ds
AR, Wouda §i, dasydey, W 3L, 88 51 3 2 leag] Gusell sl woud di wdlauR
SRE s @Al puddl. 4

() wgudan et viedie’ Al sell, vt sl 3 yurada-l ya-pilyg Geduq 529 d SRR
dARuAL.

) ARl e Mol (el 2 A MM HIMIAR 536 6. SIS UL odidR slotd [t s
oll 4ol MM AL WA A Al

(3) HEAYA HA 3 Al % iUzt (OMR SHEET) i Fuct 53¢ %ou1a Wicll-il 0165 1012 24%9 183 quidl.

6) GriRY= (OMR SHEET) i RBud %2ut Rad wdlauelfot Wididl 165 $4is cvtal 16T aan Wil »uadl
v 9l a Al A ARl 2 515 wer wsi-l Frauedl s2a-l e 3-uS 6. dx e9di w2t 515 umt

N A

(Fau-{l 3 2R e wadl dl d iyel SRR aweiasi »uadl 218 ula M2 SRS Al 1adl.

(7) GrR4=t (OMR SHEET) ~t 33uery=tii ylatell dan 3uaudor ol adl s:oouid . il 18l R
G4z (OMR SHEET) o jedis adl +dl. el Giecud yuradaall-{l uel viagu dadl adl.

(8)  udlaudlot oeyfodis ol e Tetefl GUoL 57 A1l e 2l 3 Ut 3 UR o w3 1l GualaL 53 sl
Al d :

(9) UsAYAHI e (s Sty s+ Faurdl sl €l

(10) 24 2202 uatil 5 -150 Ul . Uells Ul G A, B, C 243 [D 041 516 315 6. £35 Wa HB aR
[A5el 2T 2UAE B, AR L % UafieL G 2L D). ' :

Gersel ddls : oraidd werdr 548 7
(A) »melae (B) aiflor (C)  asr (D) wea
w4l oot (B) Al et widl i, OMR SHEET MiRsed (B) f adangeeus (Encode) Ry,
G000
(1) ucs s ganzls | (3s) e moama adl, uid-w udbi Ries . (NO NEGATIVE MARKING
SYSTEM)
(12)  dsousauon oganet ar sisell Q4 s mla sranot aut 0ds 3 06R 3 aet (e wadl) LGy s
LI AL HIZAL el YA YL, '

(13) eyl auoe GruA (OMR SHEET) oefls 342180 Y sl ofte, adfuis i9igai-il 881, i s2a04
sy 4del] [ oot yoaral ogll uilew w2 % d GReaR dReuus 2aaumi »iad,

[ (14)  auwudlen-izing 1 2000608,
r (15)  adlell oy [asey gaiey a1y i daid
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(1)

(6)

(7)

(8)

)

e us-it R edlsean L. N o3 ues .
(A)adAdt . (B) vun€l
(CO)ANAB C (D)ynsan
@-12-1t Rriet AR Wedlsrm 2l dget adet Allviad N2d g ?
(A) ALl s \ (B) 43dR
(C) Reigls@ ()R-
A S8 elw Al HemTls B4 2a13 2l €l dl o % il 2atd=4 R sut a 21 ?
(A) Qar o .®) AR i
(C) MR - (D) 444R
el Riaer- vaia S8 sl 9 ?
Ayl @dsi-ie (B) &l »1[@e
(C) ;w12 2120R - : (D)2l
(RtatsL s ARl Aeo{ui 56 ooid s 2l ?
(A) &s 1 Qs st (B) [Quuarg Widtddl
(C) e3s st [Frtid (D) A1 u[b{ou["

315 oS d-Al Rl WA S . el oug il yeai d ydui 90 {L: wd 8. s wuell ouzg avll 20
a9, el oux 5030l WA B. Ui el 55ty 42 D i uRL Arit Rt el UR 61e &
Gz d25 100 H{l. 214 8. il d-il Rclt dA 245 al:ﬂm HA D, L d elLs Wittt Rt W2t
el 3ea . gell o ?

(A)90 L. : (B) 100 1. f‘i&.’— T
(€) 260 L. (D)140l. : = o
19, crRUqRL, SgR R sausr-Al Uyl 8 ? -

(A) Brew (Bl

(C) dielss (D) myq R

Fraurofl cusdl gizn addl et 3t su Riselg GreRnd ? : )

(A) Mot 2 ojag Rl C o (B) wORiEnA e

(QEXICEE T YAEIN ETTE (D) 5125 [l

o9t [Qutett e s RSl dotss1ML 5L il dotssin s i R 537 13 D ?
(A) A ayf  @)adludad ‘

(C)udell our 4y (1) 6uR a{el ay
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(10)  olset RsRe Rewl sud ?

(A)UR ' (B3) o
(C) uHauzsl (D) AR A
(1) veued R e Aeu Riglau 21 w2 465 3R A D
(A) vl (B) et aelselieAl
(©) wIRs (D) 2 wat e

(1) leous viowell 3 & 2. uL%. vogd sdt oyel] Hestet AlGAAL AL ol sudl e 9t
Qe Aot viauiRel Rl i 538 - d 2 Gelsast 97

(A) dedndi{l A8 " (B) Rulznzeun
(GERIE Aeu . (D) 2 247 2iyel e
(13) R ABRs e 256’ AL 242 Youare good’, 367 A2t Weare good 174 358 i1 >4 good and
bad dl 03-Hie and L 518 4 ud?
(A)2 . . (B)5
8 (D)3

(14) 2R 6UL8UL10 (1) Rttt £5dR adlR-L drir(l eeeL sul eacdonil s2ai 2dl e ?
(A) AlH oAl 3N -2005 (B) [Raal 2ABsR wERUH-2009

(€) Al e {1fa-2020 _ (D) Rrara-{l dlu Ald-1986
(15) umus qolenasiil 56 widBad wuda gl 8l ?

(A) ats - Qa2 - (B) Rats - Ao widRBa

(C) Rewell - Revell vHic(Bul (D) Rewell - 2 2icdBa

(16)  NA-mi e Bisee ?

(A)25 (B)30
(C) 14 , (D) 15
(17) Rigaed urj,mq 21 Htert y Heuell ade adl wda s sl 325 Qe v v 2R
PRI ,
(A)REI1R - : o @ALAL R
() difuos (D) wadla
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(18)  ao(vis el MU vl vpqye 2o yeuisA § 53D 7
(A) AAIAR i (13) A - ey yeuise
(C) A=A S s (1) RIS Heise
() 1AL ARl A D5 dva oin Auell vell, & divu ),
72, 75, 80, 83, 84, 87, 88, 89

(A) 72 (B) 83
(€) 88 ' (1) 89 . »
Q0) e 22A 15 L oflog 22 YL R 3 12+ 510 53U 3 MM AHAZY-
el (Bul
(A) ML (B) Hedtdt
(©)Alag (D)Rarg ‘
QD) 212 e el RRY vio-Guisii-l diyel Rs Rig s2au-l geadl uBat.
(A) Rs ' (B) 4le ‘
(C) wRusadl (D)AMAB
(22)  aofuisi (et a3 d opeucll 260 61, AR wauy O, et Vi v © e el A Y
USRALAALA A oo £9.
(A) 2[R, YL (B) Weoi(st, uaieay(3st
(C)2usld, »usR (D) 2512, uRad+
(23)  SWE................ UsRAL [Riarei [yl s,
(A) Hilert w1 o4 ‘ (B) visjoidle Rleial ;
(C) 5125 iy~ (D) AULARYY gL MY,
(24)  AZAL AR A 5200 sl WBUIA g 58 7 . ‘
(A) B ALHS o f (B) UM S oS b2
(C) [asdyel 524 ‘ (D) 3euisn 524 AN :
(25) 2wl fraa 104-2020 Yoso o e oy o & ?
(A)4+5+3+3 (B)Y3+4+3+5
(C)5+3+3+4 (D)3+3+4+5

(20) ‘%R elaur 5128 HAul ddd AL HAdLq) MUA’ - AU HIRHL s Aot 54 Y ? Cits

(A) 42yl (B) diendell
(C) veied (1) BRAML
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(27)  Choose the synonym of the word fancicni’.
(A) very fast : (B) very old
(C) angry : : (D) amazed
(28) Which onc isthe nearest meaning ofthe word ‘explain’ ?
(A)expand (B) describe
(C)teach (D) simplify | .
29) 3R WA yeoues 53 uedl s vieell AL 21 @duaal 3@:' ~ o s auuda A
aoe-l vief g wu ? " '
(A)z2dl : ' (B) %2l
©yusell . A" (D) saell
(30) -Arrange the dialoguc between two mosquitoes by selecting the appropriate order of scntences.
1. Don’t miss the chance. .
2. I'will not suck his blood.
- 3. This boy’s blood is ve-ry sweet-; let’s attack.
4. El;njoy yourself, I have diabetes.; :
(A)4.2.3,1 (B)1.3.4.2
(€)%4.3, 17 SN L (0)3,2,1,4
G1)  Ddnie Wi el wuiad Rsey %éuc@t .
A di-la S (B) @l
©R-d L o)RHR
(2)  udi asdui R RAHRAAL elloL 4 2l i A asa 54D ?
(A) el 2udl, 3ig Qv 2y, $3 aaran usas.
(B) GLUML AB%cIL 2 2U%AL Ascldil [QuU .
(C) & 58l sdl - 53t o4ell 21l 3~ R i iU 1 ?
(D) sterti quida vt 20e (530) -l wa anas -2l
(33) b, 2l 20a, 51Q ] FHY, 2L ASUAL HER wRUAL
A)ynsulasy (B) QU cusy
(C) wuanel aisy L (D) AE AsA
(34) Which scnlem;e is not correct ? :
(A) Jitu is my elder brother. (B) He is older than his sister.
(C)Manuismy eldest son. (D) He is the eldest boy in the family.
IQRLL 23-D 624) |




ve

(35)  HeRacus 2US gRLMGUR 4 syl itn ojoll 4 "Atcg,c{lqtai'ﬂl U5 el

(A) ellsrue 200R (B wedls Ay ;
(C) oil33g ALY (D) Azl SFR R LYK gl R
36) 0wl %A UsTAuHc AU 54D 7 S e i ' |
Sl (B)dail
©) %ell | e )R-
7)) ‘Duatell g2 A A4S 2D Hopig UI B - sl e BuRAueL oeudl,
(A) eluaidl (B) g8
(C) 24 (D) %Y,
(38)  ThErcisNO..cccencecesnenenes in the lamp. .
(A) weak ; (B) wick
(C) week . (D) wgke
(€1°]) JR———— SwWati'veererrenenennes her hmﬁework regularly ?
‘ (A) Do, do ' -(B) Do, does
(C) Does. do (D) Docs. docs
(40)  She has been playing the GUItar ...........coveerrenen: two hours.
(A) since (B) last
(C) yet ' (D) for ‘
@) ‘suadi @31 ai, dl e QoL s’ - A g sdai ?
(A) H2dls . (B) 2[@ualaL
(C) s&ad * C (ysls
(42)  Banks will not provide you loan unless you .......esuseuseeess: theIﬁ your original identity.
(A)provide ' (B)don't pr()vide
(C) provided . (D)will provide

(43)  Find out the correct spelling.

(A) stomuck ' (B) medicin

(C) headach ‘ (D) severe
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(44)
(A) ouclu Reetan - »visoit-is (13) 2428 2tct AL[R5ed AL = opls usL2t
(C) oAt AR sl - aoe Yk (1) oyog2Lell Al y[ame - 4ol
@35) 2l ueel Wsl el Aeall Qi Acl 210e 54D 7
(A)Hau ; (B3) Ay
()l (D) [t
(46) Choose the correct sentence.
(A) lle Sees he has made mistake. (B) le thinks that it will rain.
(C) llc has done all that was nccessary. (D) e says that he had decided to catiit.
@7) A WoElA asesla s 0l
aled, L1z, Acstz, 2alel, Al
(A AR, e, Aled, #1512, AR
(B) 2uel, ARLS, AcsR, Aled, s
(©) ucs12, 2atel, 2ellsR, AR, Aed
(D) Acs2, AR, ey, 2euel, 2elsR
(48)  Select the proper word for undérlined word.
-The edgle can see very far. Ithas ﬁa_rn eyes. V
(A) big ' (B) powerful
(C) beautiful (D) black
(49) Ishould....ccccomiene gveanen the post office today.
(A) go (B) going to
(C) to go (D)goto
(50)  Choose the antonym of the word “rapidly”. d
(A) slow (B) fast
(C) quickly (D) slowly
(51)  eudui 2Alell ay %ol Htad Awd 54D 7
(A) Balzn (B) L1911
(©r g (D) Newey
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(52)’ ot ARUBLs Hdlet arnelss 28 24 ouatstiell gt uell eyl ofcirt 539", 21 Geay 55

Qo 8 ?
(A) ¥aadl {-L
(B) WLaioU dLg-il
(C) AHRL AH YAt {1l
(D) cllefaum QL
53) A8 5 uousdl st wiesl vl el sue waL o At el d Rk PECTRE RUTRAT ]
ol RTE Act-2009- 41 sl »udd & ?
(A)3L. 50,000 (B) 3. 1,00,000/-
(C)3L. 75,000]- (D) 3L. 20,000/- - :
4 Rsudig8? '
(A) 10 Kms 3¢ ‘ C(B) AR Bl BisidL _
(€) 1025 %1 Bes a2l nRABIL (D) olHuge
(35)  JeuiH QoL 56 olloid A AsUAA S ?
(A) Rgd 2471 31 2R B4
(B) tara-id, (Rla
(C) 2=l 1l (s
(D) 2elledi-iL et el Yl s ‘
(36)  Daeri -1t (Constructivism) 3vaed st i-iRstll Al sudel & 7
(A) A8 5 (Bywadla
(C) dieer (D) Ylu%
(57)  stulzall 214l RastfERstl 1ol syt Breani dioay & ?
(A) ELElE (B)Vamsld
(C) <ot ' -~ (D)ueRsi8L
(58)  wflu Gt 1R 20204 Brdburtet Sargbaiet su g i yaad 8 ?
(A)H1zEL 6 4L 8 (B)Hie | ol §
(CyareL 34l 8 ' (D) HReL ] &l 5
(59)  Gogdgrif Wl UM e !
(A)HIm4 535 (B) ARy
(©) aafaar - () 2al=ist
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60)

(61

(62)

(63)

(64

(65)

(66)

(67)

(68)

- IQRLL 23-D (10/24)

\

sjrRall sul w20l Al wR uldoit ysaui uda 8 ?

(A) ¥ig2BE - 19 (B) 2yt - 21
() ge - 24 (D) 428 - 25
il Dol e g 94D ?
(A) YRR 1AL A5 20Ul Y11
(B) 2w R sl yusidl
(C) 216l Yot (1A Al Al 5Ll DAHIRRL YHIRAL
(D) Ml 3y 82 A oLy €2 H2ldell
9L sl BrecitzilHi Alell ay dig sl >udan s ?
(A) slHIsi8L o (B) %-loLe
(C) MuElUE (D)Yd
NEP 2(;20 2{d[ct 3y [Rd National Assessment Center 4 113 26 &9 7
(A) WL (PRAN) (B) Ukt (PARAKH)
(C) ks (NASC) (D) U125 (SASC)
9oL ALl 4y drdl aﬂﬁdt 1ol Preell 59169 7 -
(A) qA%S12 (B)Yd - -
(C) adie NC (D) MHELAlE
&4l 34l (Ru&eL (MLL-Minimum Level of Learning) 12 541 Riasiaue{l -u# Q3G S ?
(A)Bigousodist B)%. sy
(OB 3s 3 | (D) dl-saus £
G-20 i SleL Qe el ? o .
[NEIET (B) UK
(C)USA - (D) sule
“[ryet etid’«l yry GeaL SlA dy R d ?
(A ydwafsel 93 (B) {181 1 244 2
©Hdra1ly | (D) yel 3uafusell e 2
MOOC Hi g Rivtacimi »1d @ ?

AW2edindaia® 0 (B)uieus Ries s
(C) NS ¥lAdIS 20qUSH (D) oL gix Rt




(69)

zv{lq BET 41[?1-2020 ugm sutay @tﬂul 14 mqﬁmﬂ cuS& mu{[fw [a.ouax @t& 100/ f’ll“L’R. b %,

SR 11171} n&at AN dg Agd AU QA D 7

(70)

()

(72

(73)

(74)

(75)

(A)2029 (B)2028 *
(C) 2035 '(D)2030

AR sl (i) RAUS gL AR sdl AURFH] Ayt sl :»uc‘ta bu M[QFU-H sﬁu &

vl claai 2udd ?

(A) 2021  (B)2018
(C)2020 (D)2019

‘A aERdL Ra{l Goasl su au e ?

(A) 2 AR (B) 5 A% . Y
(C) 8 AR | (D) 17 qRR .

RTE Act-2009 [l 56 sctt | Asait 860 Al 217 2UFs a2l 938l MEa w4 wofedlt
2L 3 A1 2R A D ? :

(A)33 (B)38

(C) 35 - (D) 34

ot1aclly 2ARHL AL MU Raril ARAuA] 2zl 51953 edl ?
(A) $L. ARAele RimsL ‘
(B) 3L. ofl U2, AicL352

(C) 4. Wl Y108 seld

(D) oll. 2. A

RendlAu diFs 211 Qsansucts Rld vlagdl 32 GCERT gl $4l wfsn 2rlct°[d. sl
Qi > 9 ?

(A) A1dl 1oLy sl
(B) Slacu [Asty sidsy
(C) w1z L8 A4 6ld Jaau-2 Hiun

(D) 35 584 2L

NER 244 GER dea{ g 013 © 7
(A) GER <NER (B) GER <NER
(C)NER =GER | (D)NER < GER
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, Rowor- 2 oumiall: -~

| 3[8@\:( wiA At o1eloll 4025 WA Rsen s 3 7

¢ (W) Y et g s el o (D) Hie 524 - etag

A;» g s (O Al sl - duw sig (1) 206 anell - sautet ug
i | (7:7) {12 a0 Rl v B dadd) [@sed o,

(A) R Bl Mttt 8 = o ue A R o vy,

(B) R Bet el vl 14004 oottt Aelafl ugell g2t e

(C) "YU AUl % - o well meta dmiy,
(D) oL’ (Mt % - & el wieo) QUi

e i i s NS e e T

S8 S s ulE il wen s 5 WY, duiad .’ - Bttt AP el
| wAel oeudl,
(A)A+g+3+U+4+2 (B)u+g++2++Y+2
b ©2+g+3+a++y D)+ -+ +9+4+2
' ! | (79)  HermuL, BN 24 3wy - 21 ALY byop) Al Uacll €l el edoget oL,
it l o ®)4
\" | ©¢ (D)%
| \ (80) i suL e HuREL D ? |
i AR, dAdEEdl, UL AU
(A)Helslrdl © (B)RmRel
(C)yedl - . (D) sR3(ld
(81)  WEAUHS ¥ 2{ORAYS el USR B ?
2 (A) dlys (B) §Ect
I (C) Heuy ()R
- (82)  'GAvl A 2l s afl awd 3 am"t’ - sl [Fui audd ‘ors’ el A g ay ?
(A) 4R (B) *udl-Rctl
(€)% (D)6
(83) a9 s 200% 1 20t Yefleuy A YR3euY - 6 eiael] 1S @ ?
(A)dRelor (B) "y ' )
L (C) ¥R i (D) 4Racl
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[(84) sHlucE ‘Aol Al ?

(A)ard (B) s
(©) 4 ) ERES

(85) 58 vl : ‘olly wiig o1l B, 6o £ 3o gL, SELA Wint Y Miettett 541wy,
(A) wga@s1B3d (13) AU

(C) aRidlaast (D) ettt

(86) il ARRNS €l Adl @sew s S ?
(B) Byl = Riy + G0

(D) 210% = 26} + %

(A) ddtd = it + drd

(©) tlal = d + 8l
fle welll ollza asa Ao e Lsoll B SN U512 Rul.

(A) Q™ gEd (B)doius sed

(©) [l gEd (D) 8cad 48~
(88) ¥ 915 2uel d %l v oLl 2 drsael 1512 @Rl

(A) dYsd als (B) AL AL

(@IECEIE (D) GEAUR ALsH
(89)  ‘apsyuell WAl s1dl AR’ - 2 CACICRTER ERTS (Yl

A)Rdes ' (B) Gdes

(C) Gevirts (D) G=ys

2yl ausiil 3B 53d aoedl WA ARl du dd alsy s4 S ?
(A) 59020l GgIR 52l AR YriRGR sdeud. (B) e [Rauiell ya g4l

(C) o Prel ari? il Qe 89w (D) A sl wellvll- vid Aul.
‘qerdieng 34 32l AR, Mg A R A - 2L s B s wee BRI sl

90)

9n
T usRY? : _ ;
(A) 2eiaas [Advel ‘ ( B)icitaius QAN |
(C)ualubs AN (D) vy RANSL
(92) 2ulai qusilal 54 asd dRaws 7 \
(A) Wiclleiell 212 ussiA), ©(B) 81 et o dlRR2a vRA 2.
(©) & & % ouvidl i udla, (D) el el e g9l
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O 31 2av e d Rarand | sy aud Geonraasd sl w2 AL » T

(A) s¥laias Ggour (B) diodl-teuas GeRUR
(C) Hmaus Ggaur (D) Fiaews Ggaur

g (94) el Al (B 2106+ s sz ailde B, A 021 A1z (A5 5 LG
ia (A) 34l vl wdeti 0 31 syeflan, - geratets st

(13) 1l 57l a3 2 S s, - et st

B S (O) A aRarR v {11, - o4 [Friais st
(D) A4 A Rart 2137 N3y oS didet 55 €lu Ag wet 2120 -l - [Baaiazs Aal

i (95)  2ulai aisl WSl sy s ‘Ruel s’ 97 !
; (A) Al 2o A PRA 61R 18], (B) 33 AR sal d Adl usal. .
k - © qg, wRulenadl. (D) ¥, W3 A2 2aell | 3 w3 ! ‘
? (96) Thereare.............. speech sounds in English lanaguage. |
! (A)24 | | (B) 44

' (97)  Jointhe following sentences. Select the proper option.

" _ - Ram visits library at 5pm. - : L ‘ |

- Shyam visits library at 5 pm.
‘ . (A)Ramand Shyam visits library at 5 pm. (B) Both Ram and Shyam visit library at 5 pm.

/ . (C) Both Ram and Shyam visits library at 5 pm. (D) Ram and Shyam both visits library at 5 pm

(98) Rahul................. vegetable's everyday. Put proper verb form in the blank.
: (A) bring ' ' . (B)brings '
;‘/ - (C)brought | (D) is bringing
| (99). : tests the learner’s ability to apply what he/she knows or has learnt to real‘-
A situation,
(A) ProﬁciencyTest i fis (B) Achievement Test’ A
X - (C) Placement Test ! (D) Diagnostic Test
(100) Yamuna isonc of the longest ... ohein India. Put a proper word in the blank.
(A)tiver. - AT ~ (B)river's - a
“(C)rivers R oy : b3 (D) riveres
. ; !
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| ( l Oi‘) A‘m'il went home to take rest, Select proper question for the underlined words.

(A) Why did Amit went home ? (B) Why did Amit go home ?
(C) Why do Amit going home ? (D) Why do Amit gone home ?
(102) Choose the synonym for the word: Forbidden
(A) Forgiven (B) Dismissed
(C) Fired (D) Not allowed

(103) Which pairis not correctly coupled ?

(A) vibrant - lively (B) alluring - precious
(C) splendid - impressive (D) enchanting - pleasant
(104) ViSitors e caNFoecs. not to feed the animals. Fill in the blank with proper word or group of words,
(A) request (B) are requested
- (C)isrequested (D) requested
(103) Please. ..................... your shoes before ymi enter the room.
(A)takein : (B) take out
(C) take off ' (D) take for.
(106) ~The spoken aspect is neglected; reading aloud is encouraged : which method is this 2°
(A) Grammar Translation A (B) Direct
(C)Bilingual D)C ommunicaliv|c
(107) lalways find her responsible. Find out antonym for the underlined word.
(A) unresponsible (B) inresponsible
(C)ilresponsible (D) irresponsible
1L R, refers to a way of teachinga Ianguagc.. which is based on systematic principles and
procedures.
(A) Approach (B)Technique
(CySkill (19) Method
(109) Sh.e BVES cvvvvrrriirirsinn, Ahmedabad. She owns o house ......... the Sabarmati river. Put pro}xef
Pairof prepositions, ; . -
(A)in.on (B)at, on
(©)in,at (D)at,in

(15/24)




(110) Te will pever help you, Identify the underlined word.
(A) Noun (B) Adverb
(C) Adjective (D) Conjunction

(1) Give one word for the phrase *A study of birds'.

(A) Zoology (B) Etymology
(C) Ethnology (D) Omithology
(112) Il'the doctor had arrived in time, the paticnt’s lifc .....ovvevennnns saved.

Fill inthe blank with proper verb.

(A) have (B) have been

(Cywill have (D) would have been
1L suggests the path to be followed while teaching skills.

(A) SLRW (B) LSWR

(C)LSRW (D) RWLS

(114) “Iick mark the errorless sentence.

(A) Riyais more intelligent than all of her sisters.

(B) Riya is the most intelligent of all another sisters.
= (©) Riya is.m’oré in;clligcm thanany of her sisters.
(D) Rivais so intelligent as no other sister of her.
(115) Wehavestill .................. money léft in the bank.
(A)alitle : (B)aflew
(Cyliwle (D) few
(116) foFA fa9m § e 4@ #1 yam gan € ?
» (A)Wﬁmﬁhﬁﬂmﬁfﬂﬂmt

(B) W7 TACIAEAT @ g STga 2 € |
G ,1,",,.,,(c")@r§fa'ammmiimwm‘zmamu
oy e et
S e %) e g et |
T T RS (B) T - TH
oz ‘ (D) FEATE - ST
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-(118). “srafs 3 wifte fne’ 3 Srar 1w e feRed 9P |
(A) 213¥, 3, fire, i (B) fora, arava, STAM, HHel
(C) etgwa, farem, s1wam, wie (1) 3@, e, |, s
(119) ‘gre S gerE w ad o g )
(A) fafem & (B) THEnsit = aoft & 39
(C) ¥4 & : () gfaen & e
(120) T ST N -1 e fag A @ 2
() T ol 3w fm & sefof & T (B) WReW FT T2 I 8 7Y |
(C)mmﬁqﬁmﬁmaﬁt%méwu (D) IfRem FeaT 2 34l 8 7Y
(121) o afe 3 et WG TeEItY | '
(A) faeeht - facema (B) 92T - FH
(C) 9= - RS (D) Tl - T

(122) S V8 & 997 HiC |

NFFE : , "(B) ®HA
O © (D) feh
(123) W a1 Je=g | :
(A S - (B) <l

(C) Tl (D) Frsi=re

(124) m% foTu U TR 3 Wely H e ferehed -9 § ?
(A) 13 3 0% IS FOET - @R (B) T IH - Fh
(C) <A ¥ A1 o I - A (D) T S| /e - e

(AF (B) 89
OV - ()"

Y msuwﬁmﬁ’ a1l 5 o e T RO
""",”.‘_(A)'anﬁa%arﬂfwaﬁﬁm (1) e T ﬂ?ﬁ‘m’ﬂ"f"""
_,mﬁmmwﬁiwmﬁ (D) Fe § omer e
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|
8
54
§
H

A .
ot o g

(127) Toar § ¥ Pt Stramen vies vt |
(A) TR (B) 5l
(O | Dy
(lZS)W—é?Sﬁ?WW%ﬁHﬁWWWI .
(A)mwwﬁmwﬁm%@amﬁm“’qrémg
(B) A e e st ce o e TED kP
(C)wmﬁﬁ%ﬁmuﬂwﬁmmaﬁmwmﬂw
(D)‘WW'WMWWWT@ﬂg%'
(129) W%ﬁnmmmaw@,@ﬁmiﬁﬂ'
(A) 6H g et & (B) T TH A € |
(C) 31TeaT &l | | (D)mmm%'
(130)- Sga=A T Yo o STaTen W= Je=ng |
(AT (B) T
€ (D) adi
(131) Y6 9 98 |
(A) 39 3TeH! 1 e 1 THE € (B) < e 1 I & F TR A |
vy (C) T8 "R I el € ? D)A TR FAHTTAE
4 (1'32; faam v} #1 TTerd SIS YT |
(A) AT x =T : (B) foam x AR
O @AX T (D) ¥&R x A2l
(133) “wreifires fedraor’ =1 wanT = o &, e ar gie
(A fFg e FadHMEE? (B)FOASHFIHFH AAWEN
(C) e ASH TR | (D) 39 I F 7d F= |
(134) ‘Temae’ vk § U Hel Ydd H 99 FHig | '
(A)C ; (B) Ve
()7 , (D)
(135) il faredre wrera @1, T forsew gfu
o e =+ i
: (C)Wr’ﬁ'fﬁ | , (D) 37=fteyor = 31 + $ayoy
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Y-t u gais 136 Al 150 291 ol B. g, 14, 6¢, 244 B ot G2l et € A ol
AN OMR Hi o powil Wi 524 A OMR Hi vt 421 eyt 141 A5 uet eiru i 208 OMR
i waie 53e o satldl ) Gl dl 2uurt 15 3R A4 0 9@ wna wist adl. '

A4 Gl

(136) Vg - goafs,

-t

V&= e,

(A= (B) &I

(C) Treaf (D) &
(137) 3TEHQ FeT Wt fasrehea: Taare el €97

(A) AT | (B) SAET

(C)=H (D) 3TEHTRH
(138) nRre Age G aiog-l-AL ivea 32l B 7

(A)31 (B) 34

(€)32 (D)33
(139) g + SFAf: =

(A) AT (B) AR

: (C) AIgTHfd: (D) FTGTHI:
(140) ¢ getgy 1L WA ol A 8.

(A)ﬂmﬂﬁﬁ#uﬁﬁ| (B) &1 ST ST JreAif |

(C)mm;ﬁmﬁm’lﬁn (D) e STA: S A |

(141) 3izgd eirufiael Sl sal: veudl.
(A) 22t ist, Qv it

(B) &48L, S+, aid-, Qv

(C) #agl, aid, 54, Auir (D) 848, Qi Auir, sat

-queyL @, Avgd et 3l Ad avll asi ?

(142) 49:45"

(A IR, CIRIARCHEICEL
(c)mm‘l (D) FYEAEERTY
o lQRLbz-”’ (1924) .




(A)WMWaﬁmm;
(B) STRARAT! e age fgvam aifit |
(C) SSTERE Tl Y1 Td Fgray s |
(D) STRARAT Fa Wl agH1 Fefx gigean |
(144)  «{lAiell 54l o n Goer 8,
A)Y (B)N
(9N (D)YH,
(145) AR AL g7 + afy
(A TR (B) T4 |
(©) F=fu (D) TR
(146) a4 fa=se: =g |
EREELEEIUG
(A) 3T + Ted + B + T (B) 3Td + F&d + TRH,
(©) 7T + e + W (D) 37 + & + T+ T
(147) arﬁ@m‘r‘aﬁmwémg ........... d
(Ayst (B)Fq
©3 (D) o1
(148) T 9vi; =g IuTER; e ? |
(A)F[ (B)Y
©F D)
(149) TG ,.vvvvvsnrrrnns 397 AT | |
(A) T (B)W
(C) T=fE (D) T=Bfa
(150) FwA: fasa: AW Hyer St |
(B) wgeft

(D) THt
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(136) "Sho5q’ =1 YISQTE A W sivom
(A) W= =19

(B) Hqmmmamg o4y
(C) g=refarseh 919 (1) Tty

(137) "5 gesremt ame W TN | S qEsmem wsm i

" SRR st Ay oy
(A) =i (13) 3Hun
(C) 3= (D) =g
(138) ‘Hi gufchedt Q5 90 318" o = “wfegeer’ v i oy g w1y 7
(A) GEmfagrgu (B) Tre=nfua fagrom
(C) Turfarrg (D) oA e fagrm
(139) ‘"=’ o g W g4 fane el
(A) |72 + 3T (B) 7 + 3@
(C) T + 3T (D) W + 3@
(140) "GHtd' a1 S YehRIa SNBHED e faamron o s 7
(A)6+6+2 (B)4+6+4
(C)8+2+2 (D)8+6

(141) 38, 1]¢¢ WAt wrts widifaes s swont wfag ee ‘Foawr’ 3 dhe A i 7
(A) ooy amor Rates (Fgam)  (B) i aremmamm

(C) Torsia <ard (D) FOISHT H9rel ST ()
(142) ‘T 99 51 el ?* 1 ST g4 s,
C(A) T WM (B) FHHO gEm
(C) =ity (D) FHEFRITAT
143) Tl fomet Yot ' Terdts’ yrearr wEme wre o w2
(A) ATTHE (B) 7€t argeren
(C) mgd (D) SFrarem
 (144) "Gk gERdl’ SR ¥ TER Hed T A 5w e e e
5 (A) forreres THIe grate (B) FTETH] iTeid dEH
(C) e famraes widtam

(D) TR gATf BT

- (145) mmmmmumwmﬁmmwmmam
TG THATd SN ATFITH H1F TG ?

(A) 5T a1 (B) fag arm

(C) faameft arag (D) Ege =g
L (146) “HERTEZ HIfoHE) U FIVR erae - e g 3k 2
o (AT e (B) T
(OO TERT (DY Q. &, ZraiE

/
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(147) ‘mmqmmmﬁ..mmmwmamﬁmmmm?
(A) HT AT (13 ST T
(C) fug s (D)myﬁam
Serorrre T Ao Frafer AT ?
(148) A weg SRS T grafar i P
(A AR (1) UERT AT fee
(C) SR araay fag (1) w@reafatm
(149) “wrerE S0’ = gl avef Fe Age ?
(A) U e o (|;)3aqsqaw%aﬁt
(C) |1 ErEn (1) wrerl
(150) “URYY’ YT WHIY / WAH YER .
(A) FHYRE §HE (B) 88 @9H
(C) TTqEY THH () ereftvE qEE
B e
s-;ggﬁj‘;uﬁ»gfawéé‘ézwf&’u“v (136)
&y e (A
#7 (D) Z (©)
(fedbfraerdF (13D
A @) sk (A
e 36 (©

crd el G (138)

Ered (B) SIESS1 (A)
e (D) ‘ SIFSF (O)

LS IS it (130,
J}’uﬁ:g?x:ﬁw&lt)

_E et
He (B) Wex (A)
e tuBds (o) Ger (O
('.‘J_TU’(/"‘;GC.(‘E’“‘ }'Jh” “40)
LGz (B) Suedis (a)
- e el (C)
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